HW #1 

Answer Key

1. a.   0.99 atm

b. 156000 Pa

c.    106.6 kPa

d. 3800 mmHg

e. 4.9 atm

f.    3750 mmHg

g. 0.92 atm

h. 550 torr

2. a.   273 K

b.    300 K

c.    27(C

d.    100(C

e.    -123(C

f.    294 K

g.    373 K

h.    -273(C

3. a.   100.mL

b.    280 mL

c.    1.4 torr

4. V2 = 140 mL

5. P2 = 38.8 kPa

6. a.   225.0 mL

b.   1800. mL

7. V2 = 6.05 X 105 mL

8. a.   V2 = 93 mL

b.    T2 = 588 K

9. T2 = 121 K

10. V2 = 406 mL

11. V2 = 4200 L

12. V2 = 550 mL

As the temperature increases, the pressure will increase until the can explodes.

13. P2 = 273 mmHg

14. T2 = 400. K

15. P2 = 490 mmHg

16. T2 = 257 K

17. V2 = 240 L

18. V2 = 30 L

